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Applied Problems:
Spherical Coordinates

“I know every mile would be worth my while. When I go the distance,
I’ll be right where I belong.”

– Hercules, Hercules

Measuring Global Distances
When measuring distances between places which are ‘close’ together, e.g. across a field or city,

one can neglect the curvature of the Earth, and use the ‘straight-line’ distance. But for locations
which are further apart the Earth’s curvature has to be taken into account.

A ‘straight line’ on a sphere is a circle (see the figures below) because traveling in a straight line
on the sphere will result in a path which is a circle. To measure distance on a sphere we use great
circles, which are circles lying on the surface of a sphere whose center is the center of the sphere.
For example, the circles on the sphere in the figure on the left below are great circles, while the
circles on the sphere in the figure on the right below are not great circles (these are sometimes
called small circles).

Figure 1. Some great circles on a sphere (left), and some small circles on a sphere (right).

Great and small circles are just the intersection of a sphere with a plane, the only difference
being is in the case of great circles the plane passes through the center of the sphere. The distance
between two points on a sphere is then the length of the shorter arc of the great circle connecting
the two points. This arc is really the arc you would get if you ‘flew’ from one point ‘straight’ to the
other point along the sphere.

We approximate the Earth as a sphere. We will use a spherical coordinate system {(ρ, θ, φ)} on
this spherical Earth using latitude and longitude (the Geographic coordinate system). To simplify
things a tiny bit, we will only consider points in the Northern and Western hemispheres. Take
the origin to be the center of the Earth, and the positive z-axis to pass through the North Pole.
The positive x-axis will pass through where the prime meridian intersects the equator. Given this
coordinate system, {(ρ, θ, φ)}, the latitude, La, and longitude, Lo, are given by (La, Lo) = (90◦ −
φ, 360◦ − θ). Assume the radius of the Earth is 3958.8 mi.

Problem:

(a) Find the spherical coordinates for Syracuse, NY (latitude 43.0469◦ N, longitude 76.1444◦ W)
and Tucson, AZ (latitude 32.2217◦ N, longitude 110.9264◦ W).

(b) Convert the spherical coordinates for Syracuse, NY and Tucson, AZ to Cartesian coordinates.

(c) Find the angle between the two position vectors from (b).

(d) Find the distance between Syracuse, NY and Tucson, NY. [Hint: s = θ r.]

(e) Use Google Maps to discuss whether your answer to (d) is reasonable.
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